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Secretaire ajouterLecon

annulerLecon

s'identifier



{context AutoEcole inv :
self.tarifUnitaireHorsForfait > self.forfaitPratique. tarif/self. forfaitPratique. nombreHeures }

AutoEcole
+nom
+tarifUnitaireHorsForfait travailler
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Moniteur
1 L* 1 4nom
L.* “broposer +prenom —
1 .
. +estDisponible(date, heureDebut, duree) {context Leoninv :
Forfait duree <=2}
+tarif _
+durée slinscrire
AAAAA Lecon
............... .
omplete, disjoint} 1.* +heureDebut
+duree
Eleve +/tarif
+nom 1.* +creerLecon(date, heureDebut, duree, tarif, eleve, moniteur)
+prenom :
ForfaitTheorique ForfaitPratique| prendre | +dateNaissance
+adresse
+nombreHeures 0.1 0..x [ +telephoneFix
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+/nombreHeuresPrises
/ {context Legon::tarif:Double
+calculerTarifLecon() derive :

if (self.eleve.forfaitPratique->notEmpty() and (self.eleve.nombreHeuresPrises < self.eleve.forfaitPratique.nombreHeures)) then
duree * (self .eleve.forfaitPratique.tarif/self .eleve. forfaitPratique. nombreHeures)

: else
{context Eleve inv : duree * self. eleve.autoEcole. tarifUnitaireHorsForfait}
self.legon.date->forAll(duree->sum() <= 4)}




application

: Secretaire ajouterLecon()

getEleve()

unEleve : Eleve

saisir(date, heureDebut duree, moniteurSouhaite)()
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calculerTarifLecon()
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moniteurSouhaite : Moniteur

: Moniteur
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[moniteur souhaite disponible]

creerLegon(date, heureDebut, durée, tarf'lf, unEleve, moniteurSouhaite)()

mettreAJour()
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[else]

chercherUnDisponible(date, heureDebut, durée)(
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[existe 1 moniteur disponible]

créerLecon(date, heureDebut, duree, tarif; unEleve, moniteurDisponible)()

mettreAJour()

mettreAJour()
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